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7.3 Volumes

How could we find/approximate the volume of the solid?

sketch a cross section
Find the area formula
Find the limits of integration

Integrate A(x) to find the volume with dx as the differential

Volumes of known cross section V = j' AA




7.3 volumes.notebook

January 15, 2015

Find the volume of the solid generated by rotating y= x2
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The region between the graph of f(x)=xcos(x)+2 and the x-
axis over the interval [-2,2] is revolved about the xaxis
to generate a solid. Find the volume of the solid.
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Find the volume of the object generated by revolving
and about the x-axis.
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Pail

y=%x—3 and x = 0 about the y-axis fromy=0toy=4

Rotate around the y-axis y=x* and x =0 from y= g
y -
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